2.3 Quotient and Chain Intro

The Quotient Rule and the Chain Rule
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2.3 Quotient and Chain Intro

Review factoring and algebra skills to simplify the following:
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Review the product rule:
Find the derivative of:
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2.3 Quotient and Chain Intro

d
Can you see a possible solution to finding d_y without using the product rule?

a) f(x)=(x+2) ’
b) y=(3x"+1)°

) gx)=(2x+3)
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2.3 Quotient and Chain Intro

Find the derlva)i.)'e of the following.

S o 33 L %)

c) y= ( +2]
9l ?ﬁ 3G R (3503
‘ J— _

‘ = %ia(xg—’r l}a

{>> Y(x\ (3:(+‘(\5§/
¥'(0): J—(ﬁxf‘f - =S <3x+‘!>

Y- >
E¥E
e) Y ()= (‘—X“’Xh
FO s ) 4

e
W

[y
2
W




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

